2500

2000

1500

1000

500

-8000-6000-4000-2000 O

3500

3000

2500

2000

1500

1000

500

asym_usl/ppm {ok_cut}

h;[emp

Entries 63712
Mean 4111
Std Dev 1674

0

2000 4000 6000 8000

asym_usl/ppm

(asym_usl/ppm-asym_usr/ppm)/2 {ok cut}

ntemp

Entries 63712

Mean 1.457

Std Dev 888.1

—4000

—2000 2000

4000 EUOO

2500

2000

1500

1000

500

2500

2000

1500

1000

500

asym_usr/ppm {ok_cut}

hiemp

Entries 63712
Mean 1.197
Std Dev 1783

m_

O

I
00-6000-4000-2000 O

2000 4000 6000 8000

asym_usr/ppm

(asym_usl/ppm+asym_usr/ppm)/2 {ok cut}

ntemp

Entries 63712
Mean 2.654
Std Dev 1484

—-6000 -4000 -2000 O

run7247 W’””Ubgﬂ‘éamLR ratech

2000 4000 6000

eckraw’postpan.png

8000

6000

4000

2000

—2000

—4000

—6000

—8000

4000

2000

—2000

—4000

—6000

asym_usl/ppm:asym_usr/ppm {ok_cut}

—8000 6000-4000-2000 O

2000 4000 6000 8000
asym_usr/ppm

asym_usl/ppm:asym_usr/ppm {ok cut}

htemp
Entries 63712
;:***:* Mean 1.197
Mean y 4.111
Std Dev 1783
StdDevy 1674

-8000-6000-4000-2000 O

2000 4000 6000 8000



2500

2000

1500

1000

500

2500

2000

1500

1000

500

asym_dsl/ppm {ok_cut}

II|JII

h;[emp

Entries 63712
Mean 2.249
Std Dev 372.7

—1500

—-1000 -500 0 500 1000 1500

asym_dsl/ppm

(asym_dsl/ppm-asym_dsr/ppm)/2 {ok cut}

ntemp

Entries 63712
Mean 2.597
Std Dev 264.2

2500

2000

1500

1000

500

2500

2000

1500

1000

500

asym_dsr/ppm {ok_

cut)

ntemp

- Entries 63712
I Mean  -2.944
- Std Dev 375
_I [ 1 | L L1 1 | L1 1 | L1 1 | L1 l | L 11
-1500 —-1000 -500 0 1000 1500

asym_dsr/ppm

(asym_dsl/ppm+asym_dsr/ppm)/2 {ok cut}

ntemp

Entries 63712
Mean —-0.3474
Std Dev 264.5

1500

1000

500

—-500

—1000

—1500

600

400

200

-200

-400

—600

asym_dsl/ppm:asym_dsr/ppm {ok_cut}

—1500 —1000

-500 0 500 1000 1500
asym_dsr/ppm

asym_dsl/ppm:asym_dsr/ppm {ok cut}

htemp

Entries 63712

I Mean  -2.944

_ | H J[JHU( J{H +++++H+++++ P ettt Mean y 2 549
_ ‘( Std Dev 375

Std Devy 3727

[
—1 000 —500 500 1 000

run7247 W’””ﬁbWﬁ“StreamL

—tII|IIII|IIII|IIII|IIII|IIII|IIII|III

500 1000 —-1500 -1000 -500 500 1000 1500

@Ck“”’ﬁw - postpan. png

—500

rat@@l“i

HDO




2500

2000

1500

1000

500

2500

2000

1500

1000

500

reg_asym_usl/ppm {ok_cut}

htemp

Entries

Mean

Std Dev

63712

4101

1092

l
-4000 -2000 0 2000

l
4000

reg_asym_usl/ppm

(reqg_asym_usl/ppm-reg_asym_usr/ppm)/2 {ok_cut}

htemp

Entries

Mean

Std Dev

63712

2.279

769.2

II|_I IIII|IIII|IIII|IIII

-3000 -2000 -1000

1000 2000 3000

2500

2000

1500

1000

500

3000

EDDD

1000

-1000

-2000

-3000

reg_asym_usr/ppm {ok_cut}

htemp

Entries

Mean

Std Dev

63712

—-0.4564

1085

l l
-4000 -2000 0 2000

l
4000

reg_asym_usr/ppm

(reg_asym_usl/ppm-reg_asym_usr/ppm)/2:Entry$ {ok_cut}

| b{l(l I i I
R

x
x X
XXX XX XX x ¥
% WM K
Pk S x %Y
0 MR RGN LA
sl s MK KKK % "% %x
W SRR $UHORRMRR w0 xROR%
W S Xx x %
% S Rx x
y % % X

:

| || E1ﬂ3

100

120

reg_asym_usl/ppm:reg_asym_usr/ppm {ok_cut}

reg_asym_usl/ppm:reg_asym_usr/ppm {ok_cut}

¥/ ndf

pO

Pl

28.42 7 38

3.951% 4.425

0.002944 = 0.004635

4000 —
2000
D_
—-2000—
—-4000—
i | | | | | | | | | | | | | | | | | | | |
-4000 -2000 0 2000 4000
reg_asym_usr/ppm
(reg_asym_usl/ppm+reg_asym_usr/ppm)/2 {ok_cut}
2500 p
i Entries 63712
2000 —
i Mean 1.823
1500
I StdDev  769.9
1000
500
_IIII|II |||||IIII|IIII|IIII II||II

000 -3000 —2000 -1000

1000 2000 3000

run724“F 000 -upstreamLR ratecheck red”postpan.png == -

500

—-500

-1000

-1500

3000

2000

1000

~1000 - }
2000 Lo ds L L B L Ll Ll
L XK R KK 5 5 W xg W xg 5
e M X W MMM % %
* oM N oKX % % ®
-3000 X x
B %
_4DUD_I | | | | | | | | | | | | | | | | | | | | |
0 20 40 60 80 100 120
Entry$

B Teo— |

| 1 + + 1l -

B * Hﬂ + HﬂHHr |

:I ] | ] ] ] | ] ] ] | ] ] ] | ] ] ] | ] ]
-4000 -2000 0 2000 4000

(reg_asym_usl/ppm+reg_asym_usrppm)/2:Entry$ {ok_cut}

i_ HoX

T XX HKXX K b 3

K KK X WM XK MK X # ®oOX

P O KOO G K HHK KHERK MK X Sxxxgg

TATATTATES TTETETETTS. 7 TTTET

x10°



2500

2000

1500

1000

500

2500

2000

1500

1000

500

I'IEIITI

reg_asym_dsl/ppm {ok_cut}
B Entries 63712
B Mean 2.243
B Std Dev  372.6
_I ] |J ] I 111 | 1 111 | L 111 | I | L | | 1
-1500 1000 -500 0 500 1000 1500

reg_asym_dsl/ppm

(reqg_asym_dsl/ppm-reg_asym_dsr/ppm)/2 {ok_cut}

| =

htemp

Entries 63712

Mean 2.58

Std Dev  264.1

—1DDD

—5DD

2470

o

D 1DDD

2500

2000

1500

1000

500

1000

500

-500

-1000

reg_asym_dsr/ppm {ok_cut}

- Entries 63712
- Mean -2.917
B Std Dev  374.8
_I | |J I | I | I | I ] | | 1 1
-1500 -1000 -500 0 500 1000 1500
reg_asym_dsr/ppm
(reg_asym_dsl/ppm-reg_asym_dsr/ppm)/2:Entry$ {ok_cut}

i p
i, O et

ot MoK s MoK et ot
[ O X M KK > E
M}{}{}{}{ MR o R % X }{2}{}{ e
CTTETEATET PTTEATETE T2 XT 0 X777

] = H:u

Sivin o R o o S e
[+ 2 MK hd M hd S K

HH M O o o o
| o
i H H o o

|1 | 1 | | I | 1 1 | I | 1 1 | ] 1[]3

100 120

1500

1000

500

-500

-1000

-1500

2500

2000

1500

1000

500

reg_asym_dsl/ppm:reg_asym_dsr/ppm {ok_cut}

—1500 -1000

-500

500 1000

1500

reg_asym_dsr/ppm

(reg_asym_dsl/ppm+reg_asym_dsr/ppm)/2 {ok_cut}

reg_asym_dsl/ppm:reg_asym_dsr/ppm {ok_cut}

II|J

htemp

Entries

Mean

Std Dev

63712

-0.3369

264.4

-1000

500

500 1000

bWﬁf’StreamLR ratecheck ‘req postpaﬁ ﬁ"ﬁg"*g oy derlopm/2

%2 | ndf 25.2 /38
PO 1.864 + 1.511 ]
pl  —0.002619 + 0.004626
200 ‘ *
| m A.
R
-200— - L
—-400—
—|||||||||||||||||||||||||||||||||||||
-1500 -1000 -500 0 500 1000 1500
(reg_asym_dsl/ppm+reg_asym_dsrippm)/2:Entry$ {ok_cut)
[ xx y
1000= % o~ wx  xx e ¢
SR KK MR WM R X WM
B U g R G
500H
500
|| Lee ML ] 5y L] ] o | o s
Eiﬁiggﬁiki g xxgéxxxﬁ 5 §x%§ﬁé
BISSE S S S S S T w o x
s T e oxox T w %
—~1000 == 3
i ® % %
i 1 1 1 | 1 1 1 | 1 1 1 | 1 1 1 | 1 1 1 | 1 1 1 | |
0 20 40 60 80 100 120
Entry$

x10°



4000

2000

-2000

-4000

2000

1500

1000

500

-500

-1000

-1500

-2000

reg asym usl/ppm:AqDS/ppm {ok cut}

-1000

-500 0

l l
500 1000
AgDS/ppm

reg _asym usl/ppm:AgDS/ppm {ok cut}

%2 / ndf

PO

p1

26.67 / 27
3.766 £ 4.428

—0.003588 *+ 0.026552

-1000

500 0

500 1000

1500

1000

500

—-500

-1000

-1500

600

400

200

-200

-400

—600

reg asym dsl/ppm:AqDS/ppm {ok_cut}

-1000

-500 0

l 1
500 1000
AgDS/ppm

reg asym dsl/ppm:AgDS/ppm {ok cut}

%2 | ndf

PO

p1

34.63 /27
2.225 £1.512

—0.004241 £+ 0.009036

| “ Tﬂmﬁﬂ?%waﬁww

-
q‘ i

%

-1000

run7247 _000_main_vs_AqDS_ratecheck reg_postpan.png

-500 0

l
500 1000

4000

2000

-2000

-4000

2000

1500

1000

500

—500

-1000

—1500

reg asym ust/ppm:AgDS/ppm {ok cut}

-1000 -500 0

l l
500 1000
AgDS/ppm

reg_asym_usr/ppm:AgDS/ppm {ok cut}

%2 / ndf

p0
p1

25.28 / 27
—0.9659 £ 4.4035
—0.02145 £ 0.02627

I_II|IIII|IIII|IIII|IIII|IIII|IIII|IIII|I
|
1
: :
——=
——

++*w*%ﬁm++w; -"

-1000 500 0

l
500 1000

1500

1000

500

-500

-1000

—-1500

600

400

200

-200

-400

reg asym dsr/ppm:AgDS/ppm {ok cut}

-1000

-500 0

1 l
500 1000
AgDS/ppm

reg_asym_dsr/ppm:AqDS/ppm {ok cut}

¥° / ndf

| PO

_ p1

25.3 /127

—-2.659 + 1.522

0.0008702 + 0.0090578

-1000

500 0

l
200 1000




4000

2000

-2000

-4000

1000

500

-500

-1000

reg_asym usl/ppm:AqUS/ppm {ok cut}

-1000

500

|
500 1000
AqUS/ppm

reg_asym usl/ppm:AqUS/ppm {ok cut}

%2 / ndf
p0
pi

36.12 /28
4.695 + 4.416

-0.01186 £ 0.02577

H

(TR

-1000

-500

0

500 1000

1500

1000

500

—-500

-1000

-1500

400

200

-200

=400

reg_asym dsl/ppm:AqUS/ppm {ok_cut}

-1000

-500 0

|
500 1000
AqUS/ppm

reg _asym dsl/ppm:AgqUS/ppm {ok_cut}

%2/ ndf
p0

p1

156.02 /28
1.846 + 1.508

—0.002136 £ 0.008782

HHM“WW

-1000

-500 0

run7247 _000_main_vs AqUS_ratecheck reg postpan.png

l
200 1000

4000

2000

-2000

-4000

2000

1500

1000

500

-500

-1000

-1500

reg_asym ust/ppm:AgUS/ppm {ok cut}

-1000 -500 0

|
500 1000
AqUS/ppm

reg_asym_usr/ppm:AqUS/ppm {ok cut}

%2 / ndf
p0
p1

27.44 | 28
—0.5482 + 4.3898
—0.03655 + 0.02558

.|_

—-1000 -500 0

l
500 1000

1500

1000

500

-500

-1000

—-1500

400

200

-200

-400

reg asym dsr/ppm:AgqUS/ppm {ok cut}

-1000 -500

I
500 1000
AqUS/ppm

reg_asym_dsr/ppm:AqUS/ppm {ok cut}

i 2 | ndf 40.99 /28
I 00 _2.689 + 1.519
i | pl  7.322e—-06 + 8.853¢-03

et

| i

—-1000 -500

1
500 1000




